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@ Random variables
© Probability distribution
© sissivdsjis

@ :wijjuana (Expectation)
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#18:1618) (Random Variables)

Swusw
#osioag) X Aansininaiamn S iglainndgsiin R 4 inmasidiiong)is: iwsngid As
X:S—>R

o iBiiuAsyW AmBgsitumutsiSafiannsioas iy

o miiixisiivas) Amuinpnwiay pamifnansdf{igmenny s

W

AR AIA AL CACTAR AN TUPBAPwbabllity /17 |

9NINNG

o NBaIEUMiMTIsSMItEMNMIY (head) B2igH (tail) pitmItmMA 1 andegshi
1R inaiamassnihianadicasis: mums
S = {hh, ht, th, tt}
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9NINNG

o HRanSunmMoisMIemaiy (head) Buogh (tail) gmitmemA edenségshi

LR inaiamassnihianasicasis: M 1
S = {hh, ht, th, tt}

o Ut BuWHOTMIEANTHL UMMM SHUUGRAIEMNRIUT iR BANNGHISE
{oHg) X IHUMESSN I USSUNSANUERUSIHLLTATY Hi52 (UISIT SR hh 1813 X
NPT tﬁﬁﬂﬂﬁmsgtﬁmiﬁ,tﬁﬂﬁs

X:5—=>R
wr #h f;ﬁ w

AABIA AL CACTAR AN TUPBAPwbablity /17|

910N9 (8)

o iNWHSUERNIGESYS ARl Sinfandmnsaty X Simzuginlywe fonii{mys

inputs: S X outputs: R
hh S 2
th 5 1
S|
t = 0
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9NIAND

o {MUgIAgNATANGHI [HIMSIAIMEY MiHIBITHES] X MEUANNISUIgRUIUA MY
gyngnAsian 1 1haly X Bn addinivains: xaigns?
1

AASIA AL CACTEAR AN TUPBAPwbablity /17|

9NNIANG

o {MUgIAgNAITANGHI [pimsiAtmEY i1BIioHg) X MEUANNISNgRNIvA MY
gyngpAsiafis « iiiaiy X 80 oddiswans: Xigipse

P(X=1)=P(1,1)=1/6x1/6
P(X=2)=P(1,2) + P(2,1) = 1/6 x 1/6 x 2
P(X=3)=P(1,3) + P(3,1) = 1/6 x 1/6 x 2
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Random variables

Continuous and Discrete

Swusw
o #10/iBASIMG Rhuidrivas gt IuwsaiytAmgimsessiang ymissnins in
Fshnng (guhigsnaitiy)
o misiioagmy Bhinsrisagyu Huwmsaiyifngantdsua AIANHBIREYL (Ath
sig1:istssha, e.g., [0,1])

AR BIA AL CACTAR AN TUPBAPwbablity /17|

Random variables

Continuous and Discrete

Swusw
o #iITGASIMG RhiiBrisag g IuwmsaiytAnigimessiang yhissnvms in
#sfong (Homdgsadmidy) 4
o sisiiBAg MY Rrhindrioas uw HumsmiyiAnigianvssn Gngusigiyw (A
sig1:i8888As, e.g., [0,1]) '

Example.
o The number of heads obtained in a series of coin tosses.
@ The count of library books checked out per hour.
o Height and weight measurements.
o Time intervals or durations.

o Temperatures.
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Probability distribution

Stanutoawnddin

» 9

o tinnuionfymiaita Renmifinahswifn)u lepaddie (pinsnynw sdaiyian
motAnnsivaiuidrisas gw s hiosiifiyw pimiw whugmn (likelihood) I8
Rusgjafime ]

o Probability distribution 918RI{UsASISINE{UIASIUAIHIBIBES) Hs

o tinnutunpnidinme: fapunsins

* nihswifiynidinisatymannd

* IRAMENINW probability mass function (PMF): P(X = z)

* Ex. GUMIQe{mugAgAtajantyw{my 1nms PMF Aandithiws
P(X=1)=1%PXx=2) =191

Probability distribution

Stanatoawnddin

» .9

Wik

~©

o innuivmpmiaia Renmifinahsifing)y wuwnddie minsaynw s

MstAnNSIvAIHIGIsEs BWY hiosifyw pumstw i asgmn (likelihood) i8mug
Routighona
o Probability distribution #sfs{yinstsimu{yinsivaisidiongins:
o tinnutunpnidiame: yfapnunsing

* nahguifiynddinisaiymaand
* iRmENEND plobablhtv mass function (PMF) P(X =1
* Ex. ﬁﬂmﬁm LmU%]ﬁﬁﬂﬁ‘imﬁﬂBHmLmU SRS PMF AANHNws

P(X=1)= P(X =2) = %9
o ﬁ%nﬂﬁiﬁﬁmmﬁﬁmmﬁe ﬁLﬁmLmﬂmﬁmij

* nahsfiynddimstidoig:
* TRmEhInY pr()bablhty de]’lbltY function (PDF): f( )
* Ex. Imwnﬁmﬁmﬁwﬁﬂﬂﬁimﬁim la, b] 118 PDF Aangsehtss

1
flx) = —— for a<z<Vb
b—a

[ K ) NSV IV WY (W T @/
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Probability distribution

Cumulative distribution function (cdf)

Swusw
BunzwisiioHs] X inAnNaHsAEE Fitw
Flr) = P(X<12), —-co<z<

wTith #8A vSIpuIIAs (cumulative distribution function) iUa3#I88 X o

AASIA AL CACTEAR AN TUPBAPwbablity /17

Probability distribution

Cumulative distribution function (cdf)

Swusw
BinexisiioHs] X sARNNAHSAEE Fitw
F(z) = P(X<1), —c0<z<00

wTith 84 uSIpUIIAs (cumulative distribution function) iUaIHIBI X 4

sam.
o HAJR X: hitBiisHS] (random variable)
o HAJHT x mr‘égsﬁﬁ (a real-valued number)

o <: HEMH gtf;j (smaller than or equal to)
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Probability distribution

UANN:IYA CDF

2

S EhiE
o Pla< X< b)=F(b) — F(a) S¥ns{ptia < b

o P(X < b) Bssimt{pitedfh P(X < b) 18

o P(X=1b)= Fx(b)— 11_1)1517 Fx(z)

Hige 1AMS

0 H(x) Ahassauldseeyt ie, 10 m < 22 380 F(z1) < F(a)
@ Limits at infinity:

lim Flz) =1<= P(X<o0)=1

T—» 00

lim F(z) =0<= P(X> —00) =1

T—>—00
@ F(z) thusneSmunmaf ie., (ASEHG: {2, n=1,2,...} IHUIHISUA 2 1ADSS
lim Fla,) = F(z) — lim P(X < 24+ ~) = P(X < 1)

n— 00 n—r o0 n

AASIR AL CACTAR AN TUPBAPwbablity 90/17 |

Probability distribution

9eNIaN.

o {MUgIRgNATANGHI [HIMSIAIMEY MiHIBIIBHS] X MEUARNISUgRUIUAI MY
gJAgNASIRAL tumﬁmm%nf}ms (a) P(X<2), (b) P(X< 35).
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Probability distribution

98NIaN.

o [UgAgNAtATANGRI [pimstAtm: MmusiBiios] X hinaanisugiuivai |y
gjﬁgp'ﬁgﬁﬁﬁ: o gsmuujm%n‘hm (a) P(X<2), (b)P(X< 35).
° Plart (a)
P(X<2)=P(X=1)+P(X=2)
= P(1,1) + P(1,2) + P(2,1) = 1/6 x 1/6 x 3

AASIA AL CACEAR AN TUPBAPwbablity /17 |

Probability distribution

9eNIaN.

o {MUgIRgNATANGHI [HIMSIAIMEY MiHIBIIBHS] X MEUARNISUgRUIUAI MY
sﬁﬁgﬁﬁsﬁﬁﬁ: o tumﬁmm%nf}ms (a) P(X<2), (b) P(X< 35).
° P‘art (a)
P(X<2)=P(X=1)+ P(X=2)
= P(1,1) + P(1,2) + P(2,1) = 1/6 x 1/6 x 3
o Part (b)
P(X<35)=P(X=1)+P(X=2)++ P(X = 35)
=1— P(X =36)
=1- P(6,6)
=1-1/6x1/6
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pmf 84 cdf

o BuNHIBIIBHSING X ARRANG probability mass function (pmf) SES

p(z) = P(X = z)
Note: pmf MBAIITAIIEN f(z) AQS!
o GINHIBING X SEIR 1, 22, . .. tiglusa

plz) >0 BwNsi=1,2,...
p(z) =0  Sunzavniyigs)ais

o $S1ASSHINN pmf 83 cdf 3

Ha)= " p()

all z<a

o 11AANN pmf 1RIAMBANNSIRA cdf NS BU{PIWBRIM

AABIA AL CACTAR AN TUPBAPwbablity 98/17 |

HIBIIGESING

9eNIaN.

o tAIIMALYANGESTY i s118:3688] X thESSIBMAMIUY BIaIItads pmf B cdf
TURIHIGE X?
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98NIaN.

o tAIIMALYANGESTY it s418:3688] X ESSIBMMIUY GIaITteds pmf B cdf

IVE0HIBE X?
o Iff pmf:
P(X=0)=P(TTT) = (1/2)° =1/8
P(X=1)= P(HTT) + P(THT) + P(TTH) = (1/2)° x 3 =3/8
P(X =2) = P(HHT) + P(HTH) + P(THH) = (1/2)* x 3 =3/8
P(X =3)= P(HHH) = (1/2)* =1/8

AR BIA AL CACTAR AN TUPBAProbabllty om/17 |

9eNIaN.

o tAIIMALYANGESTY i s118:3688] X thESSIBMAMIUY BIaIItads pmf B cdf

1UE0HIBE X?
o If pmf:
P(X=0)=P(TTT) = (1/2)* =1/8
P(X=1)= P(HTT) 4+ P(THT) + P(TTH) = (1/2)° x 3 =3/8
P(X =2) = P(HHT) + P(HTH) + P(THH) = (1/2)* x 3 =3/8
P(X =3)= P(HHH) = (1/2)> =1/8
o If pmf:
1/8, 0<a<1
Pa) = 1/2, 1<a<?2
7/8, 2<a<3
1, 3<a
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98NIaN.

o INHISHEAYSINWIUAIHIBE X ANNAHENNI{MES

0, b<0
L 0<b<1
Fbh)=q3s+25 1<b<2
o, 2<bh<3
1, 3<b

BHA P(X = ),i=1,2,37

AABIR AL CACTAR AN TUPBAPwbablity ed/17 |

HIBIIGESING

9eNIaN.

o INHISHSAYSINWIVAHIBI X ANNAHONNI{MYS

0, b<0
L 0<b<l1
Fo)=¢i4+2 1<b<2
3, 2<b<3
1, 3<b
BHA P(X = i),i=1,2,3?
antst
e P(X=1)=PX<1)-PX<1)=1-1=1

[ HanKain (RUPP) NNV N VYV N WSV (V9 B L7 ST T AL



anATgNTWASSAIN N ngRibnngaannigpuii)snidaviaun
gumign e wHsE wantiimuiens: aphinugmititinn:gigl

98NIaN.

o INHISHEAYSINWIUAIHIBE X ANNAHENNI{MES

0, b<0
L 0<b<1
Fbh)=q3s+25 1<b<2
o, 2<bh<3
1, 3<b

BHA P(X = ),i=1,2,37
1AMSS

AABIR AL CACTAR AN TUPBAPwbablity ed/17 |

HIBIIGESING

9eNIaN.

o INHISHSAYSINWIVAHIBI X ANNAHONNI{MYS

0, b<0
L 0<b<l1
Fo)=¢i4+2 1<b<2
3, 2<b<3
1, 3<b
BHA P(X = i),i=1,2,3?
antst
e P(X=1)=PX<1)-PX<1)=1-1=1
i +E) = -i=%
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AT UETHIE

o 107 fﬁﬁE’J (Random Variable)

» sidiioag) X Athusaud Aonduliainedama S shw

X:S—R
> NS cdf :
Fx(z)=P(X<2), [AUz€eR

o 107 Eﬁﬁé:[ﬁ?ﬁ’ (Discrete random variable)

» whnlyneifaigh Migsnvnsyw

> W8 pmf :

px(z) = P(X = z)
> YR (@) =1
> Fla)= ) p()

Lﬁllj z<a

AR BIR AL CACTEAR A TUPBAPwbablity 98/17 |

eijsAnng (Expectation)

eojuanng

Swusw
aly argfoen  (o47y) 1aIHIsioEs oYW AnnAgsamy:
BX|= ) o PX=ag= ) )

z: p(z)>0 z: p(z)>0

o B[X] Amalynyjudusivarnigiiumoifnig]h « 3w 8 X Aondwnd alylywe
pinshesdusinwaigipnidie p(o)
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eoiffuning (Expectation)

98NIaN.

o IRIMEMALIANGYW T 1ARANGUME Diatemoagute] p 9 Mt X thigau§ 0 — 1
indicator 165

X = 1 if head is obtained
N 0 otherwise

BIAONS) p = E[X]?

AR BIR AL CACTAR A TUPBAProbabllity ed/17 |

9eNIaN.

o IRIMEMALIANGYW T 1ARANGWNE Diatsmoaguie] p 9 M X thigau 0 — 1
indicator 1205

P 1 if head is obtained
N 0 otherwise

BIRANS) pu = E[X]?

EX]=1-p+0-(1—p)=p
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eoiffuning (Expectation)

98NIaN.

o IRIMEMALIANGYW T 1ARANGUME Diatemoagute] p 9 Mt X thigau§ 0 — 1
indicator 165
X = { 1 if head is obtained

0 otherwise
BIRANSY u = E[X]?

EX]=1-p+0-(1—p)=p

@ In general, for indicator variable X = §4 or 14, denoted as

B { 1 if event A occurs

0 otherwise

AR BIR AL CACTAR A TUPBAProbabllity ed/17 |

eijsAnng (Expectation)

9eNIaN.

o IRIMEMALIANGYW T 1ARANGWNE Diatsmoaguie] p 9 M X thigau 0 — 1
indicator 1205

P 1 if head is obtained
N 0 otherwise

BIRANS) pu = E[X]?

EX]=1-p+0-(1—p)=p

o In general, for indicator variable X = 1 or 1,4, denoted as

1 if event A occurs
0 otherwise

The expected value of X equals the probability that A occurs.
E[X]=1-P(A)+0-P(A°) = P(A)
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@ Random variables

@ Probability distribution
@ =isiisEg)ing

o ﬁj%‘:ﬁﬁﬁﬂj’]ﬁ (Expectation)
Q ﬁijﬁ (Variance)

O nwitisd Bunwigm
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#18:1618) (Random Variables)

Swusw
#osioag) X Aansininaiamn S iglainndgsiin R 4 inmasidiiong)is: iwsngid As
X:S—>R

o iBiiuAsyW AmBgsitumutsiSafiannsioas iy

o miiixisiivas) Amuinpnwiay pamifnansdf{igmenny s

W

AR AIA A A CACTAR AN TUPBAProbabllty /33

9NINNG

o NBaIEUMiMTIsSMItEMNMIY (head) B2igH (tail) pitmItmMA 1 andegshi
1R inaiamassnihianadicasis: mums
S = {hh, ht, th, tt}
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9NINNG

o HRanSunmMoisMIemaiy (head) Buogh (tail) gmitmemA edenségshi

LR inaiamassnihianasicasis: M 1
S = {hh, ht, th, tt}

o Ut BuWHOTMIEANTHL UMMM SHUUGRAIEMNRIUT iR BANNGHISE
{oHg) X IHUMESSN I USSUNSANUERUSIHLLTATY Hi52 (UISIT SR hh 1813 X
NPT tﬁﬁﬂﬂﬁmsgtﬁmiﬁ,tﬁﬂﬁs

X:5—=>R
wr #h f;ﬁ w

AABIA AL CACTEAR AN TUPBAPwbablity /33

910N9 (8)

o iNWHSUERNIGESYS ARl Sinfandmnsaty X Simzuginlywe fonii{mys

inputs: S X outputs: R
hh S 2
th 5 1
S|
t = 0
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9NIAND

o {MUgIAgNATANGHI [HIMSIAIMEY MiHIBITHES] X MEUANNISUIgRUIUA MY
gyngnAsian 1 1haly X Bn addinivains: xaigns?
1

AR SIEA AL CACEARA AN TUPBAPwbablity /33 ]

9NNIANG

o {MUgIAgNAITANGHI [pimsiAtmEY i1BIioHg) X MEUANNISNgRNIvA MY
gyngpAsiafis « iiiaiy X 80 oddiswans: Xigipse

P(X=1)=P(1,1)=1/6x1/6
P(X=2)=P(1,2) + P(2,1) = 1/6 x 1/6 x 2
P(X=3)=P(1,3) + P(3,1) = 1/6 x 1/6 x 2



anATgNTWASSAIN N ngRibnngaannigpuii)snidaviaun
nj

1

wHUi wantiimuiens: aphinugmititinn:gigl

Random variables

Continuous and Discrete

Swusw
o #10/iBASIMG Rhuidrivas gt IuwsaiytAmgimsessiang ymissnins in
Fshnng (guhigsnaitiy)
o misiioagmy Bhinsrisagyu Huwmsaiyifngantdsua AIANHBIREYL (Ath
sig1:istssha, e.g., [0,1])

AAAIA AL CACTAR AN TUPBAPrbabllity /33 ]

Random variables

Continuous and Discrete

Swusw
o #iITGASIMG RhiiBrisag g IuwmsaiytAnigimessiang yhissnvms in
#sfong (Homdgsadmidy) 4
o sisiiBAg MY Rrhindrioas uw HumsmiyiAnigianvssn Gngusigiyw (A
sig1:i8888As, e.g., [0,1]) '

Example.
o The number of heads obtained in a series of coin tosses.
@ The count of library books checked out per hour.
o Height and weight measurements.
o Time intervals or durations.

o Temperatures.



anANTgN WS AN ngRibnngaannigpuii)snidaviaun
BUNT N HT wantliquias: apairuymELiGinn: gigl

Probability distribution

Stanutoawnddin

» 9

o tinnuionfymiaita Renmifinahswifn)u lepaddie (pinsnynw sdaiyian
motAnnsivaiuidrisas gw s hiosiifiyw pimiw whugmn (likelihood) I8
Rusgjafime ]

o Probability distribution 918RI{UsASISINE{UIASIUAIHIBIBES) Hs

o tinnutunpnidinme: fapunsins

* nihswifiynidinisatymannd

* IRAMENINW probability mass function (PMF): P(X = z)

* Ex. GUMIQe{mugAgAtajantyw{my 1nms PMF Aandithiws
P(X=1)=1%PXx=2) =191

Probability distribution

Stanatoawnddin

» .9

Wik

~©

o innuivmpmiaia Renmifinahsifing)y wuwnddie minsaynw s

MstAnNSIvAIHIGIsEs BWY hiosifyw pumstw i asgmn (likelihood) i8mug
Routighona
o Probability distribution #sfs{yinstsimu{yinsivaisidiongins:
o tinnutunpnidiame: yfapnunsing

* nahguifiynddinisaiymaand
* iRmENEND plobablhtv mass function (PMF) P(X =1
* Ex. ﬁﬂmﬁm LmU%]ﬁﬁﬂﬁ‘imﬁﬂBHmLmU SRS PMF AANHNws

P(X=1)= P(X =2) = %9
o ﬁ%nﬂﬁiﬁﬁmmﬁﬁmmﬁe ﬁLﬁmLmﬂmﬁmij

* nahsfiynddimstidoig:
* TRmEhInY pr()bablhty de]’lbltY function (PDF): f( )
* Ex. Imwnﬁmﬁmﬁwﬁﬂﬂﬁimﬁim la, b] 118 PDF Aangsehtss

1
flx) = —— for a<z<Vb
b—a

[ K ) NSV IV WY (W T @/
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Probability distribution

Cumulative distribution function (cdf)

Swusw
BunzwisiioHs] X inAnNaHsAEE Fitw
Flr) = P(X<12), —-co<z<

wTith #8A vSIpuIIAs (cumulative distribution function) iUa3#I88 X o

AR BIR AL CACEAR AN TUPBAPwbablity /33

Probability distribution

Cumulative distribution function (cdf)

Swusw
BinexisiioHs] X sARNNAHSAEE Fitw
F(z) = P(X<1), —c0<z<00

wTith 84 uSIpUIIAs (cumulative distribution function) iUaIHIBI X 4

sam.
o HAJR X: hitBiisHS] (random variable)
o HAJHT x mr‘égsﬁﬁ (a real-valued number)

o <: HEMH gtf;j (smaller than or equal to)
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Probability distribution

UANN:IYA CDF

2

S EhiE
o Pla< X< b)=F(b) — F(a) S¥ns{ptia < b

o P(X < b) Bssimt{pitedfh P(X < b) 18

o P(X=1b)= Fx(b)— 11_1)1517 Fx(z)

Hige 1AMS

0 H(x) Ahassauldseeyt ie, 10 m < 22 380 F(z1) < F(a)
@ Limits at infinity:

lim Flz) =1<= P(X<o0)=1

T—» 00

lim F(z) =0<= P(X> —00) =1

T—>—00
@ F(z) thusneSmunmaf ie., (ASEHG: {2, n=1,2,...} IHUIHISUA 2 1ADSS
lim Fla,) = F(z) — lim P(X < 24+ ~) = P(X < 1)

n— 00 n—r o0 n

AR AIRA AL CACTAR AN TUPBAPwbablity 90/33

Probability distribution

9eNIaN.

o {MUgIRgNATANGHI [HIMSIAIMEY MiHIBIIBHS] X MEUARNISUgRUIUAI MY
gJAgNASIRAL tumﬁmm%nf}ms (a) P(X<2), (b) P(X< 35).
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Probability distribution

98NIaN.

o [UgAgNAtATANGRI [pimstAtm: MmusiBiios] X hinaanisugiuivai |y
gjﬁgp'ﬁgﬁﬁﬁ: o gsmuujm%n‘hm (a) P(X<2), (b)P(X< 35).
° Plart (a)
P(X<2)=P(X=1)+P(X=2)
= P(1,1) + P(1,2) + P(2,1) = 1/6 x 1/6 x 3

AR AIRA AL CACTAR AN TUPBAPwbablity 99/33

Probability distribution

9eNIaN.

o {MUgIRgNATANGHI [HIMSIAIMEY MiHIBIIBHS] X MEUARNISUgRUIUAI MY
sﬁﬁgﬁﬁsﬁﬁﬁ: o tumﬁmm%nf}ms (a) P(X<2), (b) P(X< 35).
° P‘art (a)
P(X<2)=P(X=1)+ P(X=2)
= P(1,1) + P(1,2) + P(2,1) = 1/6 x 1/6 x 3
o Part (b)
P(X<35)=P(X=1)+P(X=2)++ P(X = 35)
=1— P(X =36)
=1- P(6,6)
=1-1/6x1/6
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pmf 84 cdf

o BuNHIBIIBHSING X ARRANG probability mass function (pmf) SES

p(z) = P(X = z)
Note: pmf MBAIITAIIEN f(z) AQS!
o GINHIBING X SEIR 1, 22, . .. tiglusa

plz) >0 BwNsi=1,2,...
p(z) =0  Sunzavniyigs)ais

o $S1ASSHINN pmf 83 cdf 3

Ha)= " p()

all z<a

o 11AANN pmf 1RIAMBANNSIRA cdf NS BU{PIWBRIM

AR SIR AL CACTAR AN TUPBAPwbablity 98/33 |

HIBIIGESING

9eNIaN.

o tAIIMALYANGESTY i s418:3688] X thESSIBMPNIUY GIegTteds pmf B cdf
TURIHIGE X?



anANTgN WS AN
guNignnfwH

98NIaN.

o tAtQEMATAIANGEESTY mit #18:36H8] X BSSIBMAMIUY Biasstass pmf BH cdf

IURIHIBE X?
o Ifi pmf:

(X=0)=P(TTT) = (1/2)* =1/8
( )= P(HTT) + P(THT) + P(TTH) = (1/2)® x 3 =3/8
P(X =2) = P(HHT) + P(HTH) + P(THH) = (1/2)* x 3 =3/8
( ) = P(HHH) = (1/2)* = 1/8

AR EIA AL CACTAR AN TUPBAProbabilty om/33 |

9eNIaN.

o tAIIMALYANGESTY i s418:3688] X thESSIBMPNIUY GIegTteds pmf B cdf

IUE0HIBE X?
o If pmf:
P(X=0)=P(TTT)= (1/2)* =1/8
P(X=1)= P(HTT) 4+ P(THT) + P(TTH) = (1/2)® x 3 = 3/8
P(X =2) = P(HHT) + P(HTH) + P(THH) = (1/2)* x 3 =3/8
P(X =3)= P(HHH) = (1/2)> =1/8
o If cdf:
1/8, 0<a<l1
Fa) = 1/2, 1<a<?2
7/8, 2<a<3
1, 3<a

ngRibnngaannigpuii)snidaviaun
wantiimuiens: aphinugmititinn:gigl
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98NIaN.

o INHISHEAYSINWIUAIHIBE X ANNAHENNI{MES

0, b<0
L 0<b<1
Fbh)=q3s+25 1<b<2
o, 2<bh<3
1, 3<b

BHA P(X = ),i=1,2,37

MR BIRA AL CACTAR AN TUPBAPwbablity 9d/33 |

HIBIIGESING

9eNIaN.

o INHISHSAYSINWIVAHIBI X ANNAHONNI{MYS

0, b<0
L 0<b<l1
Fo)=¢i4+2 1<b<2
3, 2<b<3
1, 3<b
BHA P(X = i),i=1,2,3?
antst
e P(X=1)=PX<1)-PX<1)=1-1=1

[ HanKain (RUPP) NNV N YV N W SV [V VN B L2 ST D N
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98NIaN.

o INHISHEAYSINWIUAIHIBE X ANNAHENNI{MES

0, b<0
L 0<b<1
Fbh)=q3s+25 1<b<2
o, 2<bh<3
1, 3<b

BHA P(X = ),i=1,2,37
1AMSS

MR BIRA AL CACTAR AN TUPBAPwbablity 9d/33 |

HIBIIGESING

9eNIaN.

o INHISHSAYSINWIVAHIBI X ANNAHONNI{MYS

0, b<0
L 0<b<l1
Fo)=¢i4+2 1<b<2
3, 2<b<3
1, 3<b
BHA P(X = i),i=1,2,3?
antst
e P(X=1)=PX<1)-PX<1)=1-1=1
i +E) = -i=%



1

anATgNTWASSAIN N ngRibnngaannigpuii)snidaviaun
FwsHGE wantiimuiens: aphinugmititinn:gigl

1811088) NG

AT UETHIE

o 107 fﬁﬁE’J (Random Variable)

» sidiioag) X Athusaud Aonduliainedama S shw

X:S—R
> N8 cdf :
Fx(z)=P(X<2), [AUz€eR

o 107 fﬁﬁSjﬁ?ﬁ’ (Discrete random variable)

» whnlyneifaigh Migsnvnsyw

> W8 pmf :

px(z) = P(X = 1)
> 22021 p(z) =1
> Fa)= Y p(@)

Lﬁllj z<a

MR SIRA AL CACTAR AN TUPBAPwbablity 98/33 |

HIBIIGESING

58iR8

@ 1NN AUgASNALTANGESSAIY MiteIBIioHS] X NBUANNISIUSRUILAI{MY
1
gngpAstufiit idaly X Bapnddiaivain igtms?
BIRANSY (a) P(X < 2), (b) P(X < 35)7

o mAdgsTipinsimm:1 mutsiiods) X MEgsIBMANIU 4 Gra1I1608 pmf 8 cdf 1uad
HIBI X

@ 2Uth HSAUBINWIVAHIBIIBES) X Anndithws

0, b<0
L 0<b<l1

Fo)=¢i4+21 1<b<2
o 2<b<3
1, 3<b

BIANNSY P(X = i),i=1,2,3.
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eoiffunins (Expectation

SN

Swysw
8y wEfEen Y (v478) 1U0HIBITERSMOYW Aandtsnmys

EXl = ) z-P(X=2)

z: p(z)>0

> ap(a)

x: p()>0

o HX] Ammalynyjedusivarniyinumeifnig]i « 38w #8 X Aondwnd alyBywe
pimshasusiwaiypnidie pz)

AR AR AL CACTAR AN TUPBAProbabllty o /33|

eijsAnng (Expectation)

9eNIaN.

o imtmmALg ANy iARana NI dia 1mangue] p 4 M9 X musas indicator
0—1td
1 UMW
X = PORCIN
0 AIENIEH
BIAONS pu = F[X]?



o ' o

anATgNTWASSAIN N ngRibnngaannigpuii)snidaviaun
nj

1

wHUi wantiimuiens: aphinugmititinn:gigl

eoiffuning (Expectation)

98NIaN.

o immimALganGyWw iAfana NG dia 1gmanguia) p 4 ;i X hagaus indicator
0—1 i

o[ 1 oy
0 nIenigR

BIAONS) pu = E[X]?

EX]=1-p+0-(1—-p)=p

MASIR AL CACTAR AN TUPBAPwbablity 96/33 |

eijsAnng (Expectation)

9eNIaN.

o imtmmALg ANy iARana NI dia 1mangue] p 4 M9 X musas indicator
0—1td
1 UMW
X = PORCIN
0 AIENIEH
BIAONS pu = F[X]?

EX]=1-p+0-(1—p) =p
o thgigl Sun:aBIHINgmMEs X = 5, Ymindhs 1y sAAaNg
o 1 Oifgman A shaigy
0 mnichingh
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eoiffuning (Expectation)

98NIaN.

o immimALganGyWw iAfana NG dia 1gmanguia) p 4 ;i X hagaus indicator
0—1 i

o[ 1 oy
0 nIenigR

BIRRNS) 1 = E[X]?
EX]=1-p+0-(1-p)=p
o thgigl Sun:siBAngmEs X = 5, Yninhw 1, sAANG
[ 1 sGfigmanh A Rmigf
0 AIENLEgH
styesyfundnaruainss X g oddia aufigminn 4 thagjug
E[X] = 1- P(A)+0- P(A°) = P(A)

MASIR AL CACTAR AN TUPBAPwbablity 96/33 |

9NIAN

whHtsisEs) X mugsamatha (GP) InnBadngssgumsisinithas)sywy wh
X =1{0,1,2,3,4} Beutnth PMF 10aihAandgoate: ‘
p(0) =0.05, p(1) =0.05, p(2)=0.3, p(3)=0.4
sIANNS] AANaISEAMAtA £[X]
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eoiffunins (Expectation

9811NIAN

whHiBioRg] X Mg Samana (GP) trnBaing:egunsisigiiniisyw wh
X ={0,1,2,3,4} 8hgutnth PMF 1uafhAnnagunists '
p(0) = 0.05, p(1)=0.05, p(2)=0.3, p(3)=0.4
sIANNSUEjgAinaisEAMANA E[X]

AR AIRA AL CACTAR AN TUPBAPwbablity 98/33 |

eijsAnng (Expectation)

coijuarnaisasaufivanisiog Mo

aiyifinen) 1UadHIB ¥ = ¢(X) Aondtdhts
EgX)= > g px(a)

@|px(2)>0
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eoiffuning (Expectation)

satjuarnaisHsAySivaHIBIBHS NG

o 1l X Athaigiioag s 1w ¢ Ahssaumsaiythigsin isnigasifuadn (y
aigifingn) uaIEIB ¥ = g(X) Annatmus

ElgX))= > @) px()

#|px(x)>0

o WHAN:IUA YT EAANA.
(i) 13 a 801 b MEgSIBI 1AMSS

ElaX+ b = aB[X]+0b  (asnuldisifi)

AR SIR AL CACTAR AN TUPBAPwbablity 90/33 |

eijsAnng (Expectation)

coijuarnaisasaufivanisiog Mo

aiyifinen) 1UadHIB ¥ = ¢(X) Aondtdhts
EgX)= > g px(a)

@|px(2)>0

o WHAN: UMY EAANE.
(i) 15 a 8 b thEgsiBs 1AMSS
ElaX+b] = aB[X] +b  (asnuSdiisif)

(i) BinssiBiicHs) X 83 vs
E[X+ Y] = E[X] + E[Y]



ananTgpiwadsaingm AyinnlaAny ﬁmfgjLnUtLﬁanLynmmULn
BUNTgN U WwHUT ihinugmiEtitinn: il

<
o3
S,

53

<
0|0
ko)

eoiffunins (Expectation

MW E(X+Y) = E(X) + E(Y)
o PMF 1UaJH1BIIBHS] X 8% Y AnNAiiys
p(z,y) = P(X=12,Y=y)
o 1AMS PMF jUaiH181I6HS] X 811 Y GAANANSIBMA PMF: p(z, y) $EU3

px(@) = P(X=12) = p(z,9)
=> plzy)

o IRMSAIENY £(X + V) AANAEBNHIMY?

BX+Y)= ZZz+y p(z,y) Zprwy+yp(wy)]
=Zzz~pz,y +ZZy~pazy
:Zx‘Zp(x,y)-l—Zy-Zp(z,y)=Z$~px($)+zy'p8’(y)

= B(X) + E(Y)

9NIAN

o wn X thirtsiivagyinnuwnaiyamywansiamy —1,0 84 2 Bawnsndiaidum:

P(X=-1)= 3, A(X=0)= 1, (X =2) = 3
Q HIRANS £[X3]?
Ans. Y = X3 16(S:
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eoiffuning (Expectation)

9811NIAN

o

o wn X thuisiivagyinuwnnigamywansiams —1,0 8k 2 Bawsinddiafag:

P(X:—l):%,P(X=0)= é,P(X=2)= 5

Q GIRANS E[X3]?
Ans. Y= X3 1ANSS

O #aNd (a) E[2X?], (b) E4X? —1]
Ans. 0 Y= X2 1ANSs

AASIRA AL CACTAR AN TUPBAPwbablity  B8/33 |

eijsAnng (Expectation)

ISR vANS

U BRINS MW 1 g B(X)
o HIBHGHSING DRV: E[X] =3, 2 p(z)
o Hgnud: Elg(X)] =, 9(2) p()

o signuSMEMSE: E[64] = P(A) 104 mﬁgﬁﬁé}ﬁﬁémé (indicator function)
o Linear function: E[aX+ b] = aE[X] + b

Constants: E[c] = ¢ i c mé§81;ﬁ’i

o BuNHIBIIBHRSNG X 80 v

E[X+ Y] = E[X] + E[Y]
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Hij#l (Variance)

non o 1

NIj# (Variance) 841 AN (Standard deviation)

o~ 3]
o niyifingn (y vy y sivesiffundnn ) 4 = ELX] jRugiuchygvsysisaivinm
MNotARIgIUAHIBIoHS] X
Swysw
Variance Baipain(Batipiuw (y afaidw) iuainisiisag) X sandithuws

o” = Var(X) = E[(X - B(X))’| = B[(X - w)’]

o URURAIY 1ADS
Var(X) = E(X?) — i°

AR SIA AL CACEAR AN TUPBAPwbablity /33 |

Hij# (Variance)

non o

NI (Variance) 84 nynasiit (Standard deviation)

& n

o niyifnen (Y vijy Y nlyasfuncnn ) 4 = E[X] guugiumhynjvsysisaiyity
MoifntgRIvaATHIGIiBHS] X 9
a 3
Sty Su
Variance RRNROAEIUIE L (Y AERIOW) 1UaiH1810HS] X AnnAihws:
W

o® = Var(X) = B[ (X B(X))’| = B[(X— )’

o USTRAIP 1ANS
Var(X) = B(X?) — u°
Swysw
AENBAHA (Standard Deviation) AfyaImisuashiji

o = SD(X) = /Var(X)
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98NIaN.

ANSAAAEET SN GIASNAY WA ANBINSE R

AR BIR AL CACTAR AN TUPBAPwbablity 08/33 |

9eNIaN.

AN NHRNISMITN:GAENAY I ANGNSERA
1

Var(X) = E[X°] - (E[X])®
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Hij#l (Variance)

98NIaN.

ANSAAAEET SN GIASNAY WA ANBINSE R
Var(X) = B[X*] - (E[X])®

1 1 1 1
E[)q_1x1+2xz+3xz+4xz_2.5

AR BIR AL CACTAR AN TUPBAPwbablity 08/33 |

Hij# (Variance)

9eNIaN.

AN NHRNISMITN:GAENAY I ANGNSERA
1

Var(X) = E[X°] - (E[X])®

1 1 1 1
E[)(]—1><1+2><Z+3><Z+4><Z—2.5

a1 1 1 1
E[X]—lx4+4><4+9><4+16><4—7.5
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Hij#l (Variance)

98NIaN.

ANSAAAEET SN GIASNAY WA ANBINSE R
Var(X) = B[X*] - (E[X])®

1 1 1 1
E[)q_1x1+2xz+3xz+4xz_2.5

1 1 1 1
E[Xz]:1><1+4><Z+9XZ+1GXZ=7.5

Var(X) =75 - 25> =1.25

AR BIR AL CACTAR AN TUPBAPwbablity 08/33 |

Hij# (Variance)

9eNIaN.

AN NHRNISMITN:GAENAY I ANGNSERA
1

Var(X) = E[X°] - (E[X])®

1 1 1 1
E[)(]—1><1+2><Z+3><Z+4><Z—2.5

a1 1 1 1
E[X]—lx4+4><4+9><4+16><4—7.5

Var(X) = 7.5 — 2.5 = 1.25

SD(X) =/ Var[X] = 1.12
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Hij#l (Variance)

91NN
o MuKIBIIEHS] X = {0,1,2,3,4} IHUNs PMF Annatng

p(0) =0.05, p(1) =0.05, p(2)=0.3, p(3)=04
AONSY Var[X]?

AABIA AL CACTAR AN TUPBAPwbablity 08/33 |

Hij# (Variance)

9NIAN

o MUHIBIBHS] X = {0, 1,2, 3,4} RS PMF Aan#ih
p(0) =0.05, p(1) =005 p(2) =03, p3)=04

ARNR Var[X]?
Ans. ARS8

Var(X) = E(X*) — (E[X])?
e AANS p(4) =1 — p(0) — p(1) — p(2) — p(3) = 0.2.
o HANS E[X] 881 K[X?]
E[X]=0x0.05+1x005+2x03+3x04+4x02=265

E[X*] =0 x 0.05+ 1% x 0.05 4 2> x 0.3+ 3% x 0.4+ 4% x 0.2 = 8.05
g1g:
Var[X] = E(X?) — (E[X])* = 8.05 — 2.65° = 1.0275
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9811NIAN

BIARANS) Var(X) 18

Ans.

AR AIA AL CACTAR AN TUPBAProbabllty 6d/33 |

9NIAN

BIARNS) Var(X) 18

Ans.
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uRaN:I v

X) =0 agnin X mhogsic
o 1{i o B4 b hgsi8s 1AMS

Var(aX + b) = a*Var(X)

@193
o Var(aX) = a*Var(X)
o Var(X + b) = Var(X) (b mt‘égsm:)
o Var(b)=0  (bmGgsisy)

AR BIA AL CACTAR AN TUPBAPrbablity BE/33 |

9NIAN

15 E[X] = 1 84 Var(X) = 5 ginans)
(a) E[(2+ X)?]
(b) Var(4 +3X)
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9811NIAN

1§ E[X] = 1 8% Var(X) = 5 ginans
(a) E[(2 + X)?]
(b) Var(4 + 3X)

Ans.
Var(X) = E(X?) — (B[X])?
ElaX + b = aE[X] + b; Var(aX + b) = a° Var(X)
Part (a):
E[(24 X)? = Var(2+ X) + (E[2 + X]?)
= Var(X)+ 2+ EX)*=5+9=14
Part (b)

Var(4 +3X) = 3% x Var(X) =9 x5 =45

AR BIRA AL CACTAR AN TUPBAPwbablity 88/33 |

NijRAnndnsMMIhwIvHIs: X

X, AthaiBIiGESIINGS pmf 3 Xz AEIBIIGHSIINGNS pmf 3
¢ | -1 1 e | -2 2
px,(2) | 1/2 | 1/2 pxo(2) | 1/2 ] 1/2
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hijsdondmsmnihwivaisits X

X, AthaiB1i6HS]INGNS pmf 3 Xz AthaiBIiGHS]INGNS pmf 3
e | 1] 1 e | 2] 2
px(2) | 1/2 | 1/2 pxy(2) | 1/2 | 1/2

=0, 01 = E[X7]—0°=1, 0y =1

AR BIA AL CACTAR AN TUPBAProbabllty mo/33 |

NijRAnndnsMMIhwIvHIs: X

X, AthaiBIiGESIINGS pmf 3 Xz AEIBIIGHSIINGNS pmf 3
¢ | -1 1 e | -2 2
px,(2) | 1/2 | 1/2 pxo(2) | 1/2 ] 1/2

p1 =0, o1 = E[X;]—0°=1, o1 =1
p2 =0, 05 = E[X3] —0° =4, 05 =2
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Hij#l (Variance)

X, AthaiB1i6HS]INGNS pmf 3 Xz AthaiBIiGHS]INGNS pmf 3
e | 1] 1 e | 2] 2
px(2) | 1/2 | 1/2 pxy(2) | 1/2 | 1/2

2

asBinss s0hjHiiRsigiR (Y sd 1Rsigin senifnituifssgiitn

X1 X2
o o
=] =]
= s
=] =]
« «
= o = o
= =
] o o
= =]
S s
< J— =] J— J—
= =)
3 -2 -1 0 1 2 3 3 -2 -1 0 1 2 3
x X

AR BIA AL CACTAR AN TUPBAProbabllty mo/33 |

Hij# (Variance)

IRAINW S SD = 1




AT SN ATWASSAIN M agitiangnanigpuig) sadauTmun

guMignAFwH

wantiimuiens: aphinugmititinn:gigl

muigigd Bnwigm

:mmiﬁ:§t§ (Bernoulli distribution)
Branndanniyt wsugdufidngis shadw (1) y undw (0)9 misisiorsg) X M
dgsinaiwpimiannyitagusiding
S sus
#1811608] X 918 sty Bernoulli 1
P(X=1)=p, PX=0)=1-p

a »

Wuo<p<i1 ﬁmmmﬁmtmsmgﬁmmﬁﬁm q

° HSIﬁ‘Hé pmf iUﬁ'J“imLﬁ Bernoulli
X~ Ber(p) <= p(1) = p, p(0) =1—p

o intmstwarhaiginsmhddes Aiann
Jacob Bernoulli

1uwitigd Bainuigm

9eNIaN.

o IMMMALYANGYL SHEGAIUSRIIBMANY : p = 0.5
o (NEAMUEIRENAIGANGEWNSYS 6 SHIBMINS6: p=1/6

o ynti)smsBige A 18inRtAIS:: pe [0,1] 9

[ K ) NSV IV WY (W TUPDA Pttty /33
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o IAMMATAIANGYLW BHSGUNERANBIMANY : p = 0.5 9
o [NEAIMUSIASNATIANBYWNSY2 6 BHIBMIU26: p=1/6

o yfiif)smsBige A 1sigdAiss: pe [0,1]

y13t 8 HHIVEIHIBE X ~ Ber(p) }

AR AIRA AL CACTEAR AN TUPBA Probability mm/33 |

Stpuigm

9eNIaN.

o AINIMALYANGYLW BREGIUIRAIBIMANY : p= 0.5 9
o (NEAIMUSIASNATIANBELINSY2 6 BHIGMIU26: p=1/6

o yntijsmsBige A 1siguthiis:: p e [0,1]

B3y 81 HJHIVEIHIBE X ~ Ber(p) )

EX)=1xp+0x(l—p)=p
Var(X) = BE(X*) — (E[X]))’ =1 xp+ 0> x (1 —p) —p* =p—p> = p(1 — p)
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H IGJ\{GﬁSJ i (Continuous random variable)s
o HIBIBASIMNY X YWHBWARIYARGIR: (—o0, 00)

Swusus

X Aehsisiioagyiy ibunsusnys Ssulfns fyw ANNRNS{HU 2 € (—oo, 0o) IHTAT
einhi Biued8ssia (e, B € R) 1AMS ¢

P(X € B) = / f@)do

HeAYE fiumh ﬁgﬁys"ﬁﬁﬁ?mwmﬁﬂm (probability density function) $UTIM& (pdf)
TUaIHIBITORS) X




FNANTSN WA

(e
[S7)
e

=
=B

ngRibnngaannigpuii)snidaviaun
gumign e wHsE wantiimuiens: aphinugmititinn:gigl

H IGﬁBﬁSJ U (Continuous random variable)s
o HIBIBASIMNY X YWHBWARIYARGIR: (—o0, 00)

Swuss

X Aehaigsioagym ibmnsnsnus Gsulgms £y AANSNSIAT 2 € (—oo, co) WHUAT
i BIUeIG8sa (i.e., B € R) 1AMS ¢

P(X € B) = / @) ds

HEAYE f1UTI ﬁgﬁyéﬁﬁﬁjzﬁzgmﬁn?m (probability density function) SUTMM& (pdf)
1UEIHIBITORS] X
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o vinamgimAgkogt
o MWMUI PN ENSAYRIUAIHAT
o vinanuAg iR DM aRisuAnAg
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pdf and cdf
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pdf and cdf

o 18t73] pdf ANNAMS (szﬁmnt?s:i?ﬁmS) :

/ flz) (o< X<o0)=1

o #8nHS cdf 1UAIHIBIIBAS Y ANNAIEW:

F(a) = P(X< a) = /u fz)dz
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pdf and cdf

o 18t73] pdf ANNGmS (1Lﬁ’1?’lﬁm§8§-§?ﬁm8) :

/ fz) (oo < X< o0)=1

o 18AYE cdf 1UAIHIBIBAS MY AnNAtEW:

F(a) = P(X < a) :/a fz)dz

o dunsisiiveg)tht ol dimvaisanminuyw ahdas):

o= [ o

P(X<a)=PX<a)— P(X=a) = F(a)
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o 18579 pdf ANNGMS (t[ﬁiﬁmmﬁssﬁﬁms :

/ flz) (o< X<o0)=1

o #8nHS cdf 1UAIHIBIIBAS Y ANNAIEW:

Fla)=P(X<a)= / fz)dz
o Ginssisiicug]hy Ltgm%n?mmﬁiémmmmﬁm OGEYSE

o= [ 1
P(X<a)=PX<a)— P(X=a) = Fa)
o wonbdimshilboigey:
Pla< X<b)=F(b) — Fla) = P(la< X < b)
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P(a = X = b) = area of shaded region
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a b
P(a = X =< b) = area of shaded region

o §SAgsHINH pdf 811 cdf IssiBiioHg tys 1Gann) pdf 1s:

Fla) = P(X<a)= /u J(z)dz
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a b
P(a = X = b) = area of shaded region

o $SIAGSHINY pdf BY cdf issidsiHg thus 104N pdf 1m:

F(a) = P(X<a) = /a fz)dz

o ihifHoIGIRY A pdf 1TtAANN cdf?
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a b
P(a = X =< b) = area of shaded region

o §SAgsHINH pdf 811 cdf IssiBiioHg tys 1Gann) pdf 1s:

Fla) = P(X<a)= /u J(z)dz

o ihtGysiyoiuin pdf 1T1RANM cdf?
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Ut X AMHIBIGHS MY 118 pdf ANNARENM{MY 3
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c(8z — 42%), wo<z<1
flz) = o
0, QERTNSEN
o puARLY c?
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MITAANL pdf

Sunzaty h > 0 HUYW 1ANSS

h h 3
P(x—§§X§x+§)=/ ft)dt

~ |t §) - -] 0
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o jrlins aifuninaruaiiBRBRSIMG X N8 pmf 16 p(z) AANAIENLS

ElX] = ap(a)

all z
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caijuAing Shhgj

o {iins aiffunrnaruminisiisas e X 1S pmf 161 p(z) RANGi:
BIX] = ap(a)

all

o iARANANITUAMBIUAIHIBIGHSIMY X 018 pdf 18] p(a) S

X = / ) de
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eojuAing Shihiji

o jrlins aifuninaruaiiBRBRSIMG X N8 pmf 16 p(z) AANAIENLS

ElX] = ap(a)

all z

o tARANAREfERNAIUATHIGEBHS MY X 918 pdf 16 p(z) SENEUs
BIX] = / of() dz
o NIJH B Atnmaghm 2
Var(X) = B[X°] - (E[X])®, SD(X) = /Var(X)

Definition:
Var(X) = E[(X — p)?]
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UANN:IUA ELX] s CRV

o iiins uiffunmnaiuainiBiBESING ¥ = g(X) 818 pmf 18] p(x) AANHIENUIS
Elg(X)] = ) _ g(2)p(2)

all
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o jilins uifjuninaivaisiBiiousng ¥ = g(X) 018 pmf 18] p(x) AANLENLTS
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all @

o BOMGIM:EIBIBHSIMY ¥ = g(X) 18 pdf 16 flz) &
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UARN:IUA EX] Gims CRV — @

Bin:#1BiIoH8 Y X 8% Y iAMSs
o BUYAHIBIIBHS]
E[X+ Y] = E[X] + E[Y]

o 1{i o B4 b hdgsi8s 1AMS
ElaX+ b = aE[X]+ b
Var(aX + b) = a° Var(X)



anANTgN WS AN ngRibnngaannigpuii)snidaviaun

gumign e wHsE wantiimuiens: aphinugmititinn:gigl

9811NIAN

wisnyny Shhijiivaiaisioag o X Huws pdf Annaniymys

flz) =
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2 100<z<1
f($)={
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wisnyny Shhijiivaiaisioag o X Huws pdf Annaniymys

@ 2 100<z<1
) =
0 miniggH
Ans.
BIX] = / " afla)ds
! 2 41 2
— adr= 248 =2
A xr Taxr 356 . 3
VarlX] = B0 - (B = [ f(a)da— (2/3)°
_ by 24 ! 1
—/0 - 2zdr—4/9 = Zm 0_4/9_E
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9NIAN

Suppose that X is a continuous random variable whose pdf is

c(8z — 42°) wo<z<1
fle) = -
0 Aschigh

o Find P(X > 0.5).

Ans.
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9811NIAN

Suppose that X is a continuous random variable whose pdf is

¢(8z — 447) wo<z<1
Jlw) = -
0 AIANEpH

e Find P(X > 0.5).

Ans.

eutfjuncng SuhijH

9NIAN

Suppose that X is a continuous random variable whose pdf is

flw) =

c(8z — 41°) 100 <z<1
0 AIANs G

o Find the cdf function : F(z).

Ans. -
/ fz)de=1= c=1/3

. 0 z<0
F(z):/ fiydt= =2 g<z<i1
o 1 z>1

Note that F(0) =0 and F(1) = 1.
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FISNE&RNBS Bernoull

- oqinN g 0gaismifiiantSBernoulli Ami
URMAY ”Wiyﬁm”‘lnSU[ﬁi]mSﬂjgwmtym
mutﬁﬁmsmmmg@" MU yBy s s1oitih
ORgRMUNNItA uwtmzu 1‘,1;1 1F
UﬂutijtmujﬁjtijLUfn IR WG nmmm

- 29N A MlﬁmdgL”ﬁUanG‘ﬁﬁ IHY]FGUMSIUS
AMAMMYWATN 2 ANIRNYWisMian A
iU Bernoulli 119

56693565585 Bernoull

fwsdes  (susdseriBied). mLmUmﬁnﬁsmism&ﬁmmﬁmgmmrmnﬁm sS4
Hmig:]nii"ltmﬂtﬁ Wa p,0<p<1 mLUmumimﬁmgmmSimmﬁm ANNRHIGHGRS] X

R
0 iGugRuthundw

|1 gRummatw

i91: x sisnougitiswituwnsusaushayntdn

¥ v

p(x)=p*(1-p)™*, x=0,1
S8atugn x ~ Ber(p) B18SWH x HiGHGRSIBISWIRUBSONIEEH p
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566835655585 Bernoull

Ll

g 5.16. 1 IQIMAKIAMGYW 1 B19 AANAHIBIGRS) X, 1R X, = 1 ITMAIGN
H 84 x; = 0 1TMAIGE 7 1918 X, ~ Ber (1)

2. IQ[AUSIASNAIAYANG 1 B9 AANGHIBHGRS) X, 1R X, = 1ilimUgAgpAGMINe
fithit 4 8% X, = 0 1ghffis: 1912 X, ~ Ber (1)

ammnh 5.17. UANDAYWwTNEMUSiga ¢ ym STt muimiuuiidnysithw
o lda 0754 mb x SesiogiRn x = 1iTdagyApLhne § x = o Tdagyh
[UUA@AI:

X ~ Ber(0.75)

5668356585 Bernoull

'Yy

- uijuannadhnigh {SHISHGRS] Bernoull
 E[X]=p

e V(X)=p(l-p)

e
1
BIX]=) xp(x)=0-(1-p)+1-p=p
x=0
1

E[X?] =Z*‘JP(IJ= 0-(1-p+1*-p=p
x=(0

V(X)=E[X - (BIX])? =p-p° = p(l-p)
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Swssgus  (uanssigm). DianasigmiiinGSinn
. GS8fiianGShGSSANNG »
o HiannsSywanmsmugruiadi: manw Shundw
o fianESSywassmiwa

. Lqmﬁn'hﬁ@gmmmmﬁﬁw‘qhﬁ:ﬁnﬁééﬁummﬁgéﬁ p.0<p<l
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FEEARNB LG
HSIAS  HAURMIUNAYA NEOURYRInG
i 688 I RAIRUSIUMYiEIg 0.6 §8
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56635 BSRZID

fessses (suSscREgm). HIGHGRS) X fﬁmmmmmﬁigsmﬁﬁwtmqh n fians§

thuiSHoRSIgMIRUB SN » 81 p4
§8a00aN X ~ B, p) NSSWH X MHIGHTRSIGMIRUBNSONIG(H » §1 p

2RIARS ! L IQemATEanGyw 4 B4 Shmh x hiss #iRuggumsy htfianns
1M
. Gg8fianns n=4
o DianaS8ywonsgRuinii: # 8 7
o DiennsSywassmpwa
. yidineguas # pitfirnasRywangsh |

HIGHGRS) X RuthGgs A sgrumsthuidiclgigmitumsOhibp =48 p=1
Rt 88aan x ~ 8(4.1)
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2 tm'qhn}ny:mmiLEmi?mfﬁmms 10 A5001 S8 3 Utﬁmtmqﬂqma&@iﬂ Ginseani
Sywansuwipinywand iGdagdsms s amiifinauiw S agiiaiwa
oigwithwicrs) s mi x hissofwituaapgwEt dMhfmnasigmim:

Gsfiianns n=10

fienESSywInsugRiait: oigwiat Shogwen

fianasgwIBsmpbwa

=
P

» L[;mﬁﬂ'itﬁggfﬁmSﬁtﬁtﬁLﬁj'@ﬁﬁiﬁnﬁéﬁgmmﬁﬁ%

HIGHGRS) X IRUENGSSOITWiRle guMS tHIBHERSIgMIRUMSQNIGE 2 = 10 8}
p =+ RuitbhnG8Sarm x ~ 8(10.4)

566 S5 BCRZIS
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i0 X ~ B p) B EX =x), x=0.1.2,....n SSRGS 7 e GREIcMANNINNIN:MA
ianG s Bhg ildhatmigahaanddinitusguns & 3 Bh nsSwondhpisgvms
H 3RASH T 2 Rhasie:Oth 7 3 GBS 7 2 ﬁmm_ﬁrarﬁmﬁmﬁmm yabdimituegn
M8 H 3 BUAsh 7 2 ghimwismuq:maa

P(HHHTT) = P(H)P(H)P(H)P(TY2(T)

: (%)1i [%] — 0.0313

mefaieins 10 mjuigailgegums & 3 Bhda 2 BlisighdmamAnsgonimy
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THTHH HTHHT
THHTH HHTTH
THHHT HHTHT
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X
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2. P(X<2)
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26!
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P(X =2)=C(8,2)-(0.4)*-(1—-0.4)* (0.4)-(0.6)° =0.2

Plxef)=2rp B 2N 5o
729 243 729




AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs
BUNT N HT wantiimuiens: aphinugmititinn:gigl

55635 BTRIZD

sansieds  AnAlmMALHSIMInNIHaTaiRums 10 anuuidsas

ﬁumxﬂsmmm&gmmgtﬁﬂ ﬁjiﬂ@I%HMLIJi]B‘IS s pifaitmo Y agiuTuouywinhw
ameieiam Sy I sofwigiiagwan: mmmﬁn?mfﬁm?mm:mehmmﬁ}éﬁ
GsibigiuuimiBiFwiaithimeamas 60%

sseﬁs‘é’sﬁejgzm (ﬁjmﬁﬁsigé)

1.

22
o D3
C.'?
Z/.)
Op—
CoO
Ei,
S
0
>0
_D_}
C.'
B
y =
CZ
uT7p)
3 O
*@
G-
0C3
=0
33
o 8

AR IRUNS10% AA8GEY ALY m”ﬁffﬁﬁ
MILAIS S aaiR g oIt oAM ATYW
i MAYW IWWIsMEugA:es Shil
NIHATIEN 1$ THAIURINHIS:SSORY ARNS)
WOUIRE|6JHANI NS 158

HAURIRE Wi wEA LI mash o yw ¢
I MUgAgp AW 1TIGMISL U 6 HAUNS
mfmetﬁu Stmmumtmatmms HAIFIEY

YWHRINS 9 A YD UIRY]gImnm: LMIUQV]n
GNAUAGH HATUEARIAGAIE O 1m

_}D



AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs
BUNT N HT wantiimuiens: aphinugmititinn:gigl

$66SBTRIF® (VUNGH

4. memn%musswmﬁs o
npmmm HUE OUHMIEANARMINANGSS
USRI SRS afan iy 9
SN IAG 10 18]
MAIHU S FYJUSS 34 A
IS MIANIURS THIUS

5. SEANAIRWANNISAIULET ( True false
Questions ) ) GSSWORIANI nhmmmmhﬁa@
YW WUyt mass meisyejisLigw
AMRIC:IAIE ITIINWIORS] < UM AJELR
NYND0% IGURIAIMT 9 AATI{YNSITH] 6]
maTuuahUyithi: 4

5-5655655595@253

seeh  IM:(AUYRENAIGAIGYW 480 Bt iRwiy hygh Bhaganghinistgsy?
U2 3 TRUIGM Y

mi X thESSY21Ue 3 IRUITMINE X ~ B(n. p) IR n = 480, p = L9 JGIS:

1
6
g
E[X] = np = 480 (E) = 80
J

1Y {5
V(X)=np(l —p)= 480(—_] (— = 66.67
6/\6

SD(X) = V66.67 =8.16



AT SN ATWASSAIN M i

agitiangnanigpuig) sadauTmun
BUNT N HT wantiimuiens: aphinugmititinn:gigl
IO mUuE 2
1. wasilin 250 ppinsipRadpiasigy
ihgmaaT 108 1§1: umBiaidut Ajsa
tcc BSHISMAIRNG IJUIS ?
2 tmjfmﬂ;ummsolgo GAIYS 100 GRIHAJY IR
LUMIU[UimuﬂUgmifﬂﬁﬂﬂ NYWHYIS
a. HISQIUHA
b. Sﬁﬁ-inj USS Ce
c. WNRIUNG Sﬁiﬁn\ji Y
d. gauHAj TSthi 9

5665 SORINMS

HIGHOAS] Mg M HSHoRS GG uunubssiammniRMIARISIMWITRS)
ISl nuaAMyW YU amys hamﬁmﬁ:’iﬁﬁsgtgmisigh§wmigmnﬁﬁgsmﬁﬁw
Sudssundw TuislakmsrioRsy el Gssuuismanwpiasandisiahhaminn y
uunamyty4 dmi iméssisLﬁﬁmm‘htmm"nmam Emf‘ifissamaisﬁﬁ%‘nnhtsm@:

amywh 1 issyaidniinns » fammisiog:amywiihumstons) fiadio
NHIAY
Sesesees 512 (sSsscgidese). HISHORS) ¥ IMUMGWARY 0.1.2.3... Wit HIS!
RS AR shnisE 1> 0 i sHSATS Oy MUDE

P(X =x) = c'_’lﬁ. i=0.0.2.5 .

x!

SEargm x ~ P() WSSWh x MsHoRsyAghiRums it 4> 09



i ﬁmigjLnUtLﬁUSnLynU1mULn

anANTgN WS AN
LUﬁmﬁig;UJ ApkinUYMIHGIGIN: §ig]

guMignAFwH

566 S SO R[S

amnird 526 (TSN wARMMWHAUSESS 200 WUisinwhwihwichsysiahngnk
isinhéMinmywnsAwbss 3 4
ywé AR

o o g 3
WARNT 500 §019 IRUMUNITRIRN
sees. GSSAUUMENEANY

-5

200

1= 35=04
Ak X MESSANWAREWEAND: X ~ 2(1) R 1= 041 §G1S:
P(X=3)= (0:” = 0.0072

Y &

AL ACHPHACE
aaunirl  IRAAIS[AYUSEWE GUMIUTIGUIGIANMUEY 3 RUARGWINAMEIUAS
gruEsAaigy Simsgwithhamyw myaidmitumss ggmmrtuﬂémgrmg

1. tniifs 3

2. UnRILMBAME 3

3. 118Gg8 5 yibsthi
seges. Mi X m6§StUﬂqm§rmgfﬁm9gmghtﬁwﬂnmuumtm: X ~ P IR 4 =39 JoIs

iams
3 3
PX <3)= Ze_j— = 0.6472

e
PX=3)=1-P(X<2)
2

= 1—1}4232 =0.5768

\..L.il
oy

BX=25)=1-PX<4)

L..LJ
=

i —3

M*»
..n;
-

x=0
=1-0.8152 =0.1848



o

anANTgN WS AN ngRibnngaannigpuii)snidaviaun
BUNT N HT wantiimuiens: aphinugmititinn:gigl

ERSHS
U (x]
Bens 1. 10 2% isfgniR i G wpsnisywhiguesd annyaddaitu

ARGInmuFHO 200 IR0U
(a) BISANMISG 2
(b) ®SHNSGHTSMEA 2
(c) BSHNSGUNRIDS 2

2. tadsalywaliomihwicts sipthaautss 10 w§anndiomy 500 w§atRumSa
ik mmmﬁrﬁmfﬁm*qhﬁmmg 300 WSATRUMSHNNS 5 wu§AthiAthasau

3. 1sigh ngnisagialiums 400 §himsAnGss 200 iBussinwiiwhwict s
iBdshédwpinsiuTuthwicds) myaddinituhnsivuyw

4, ﬁgsr{gmﬁ?QJﬁJﬁg‘i’ﬁmmcpmﬂmmméﬁmmjmSﬁﬁLmﬂ GssunjuisHRMARINS
M aneish 3.5 ghywad IﬁLqmﬁrﬁtﬁfﬁmqhH“mm§mqm
(a) BSHISHUMA

(b) HISHRME 2
(c) UNMIUNGAMEIHS 5 HRME



anANTgN WS AN ngiRinngaannigpuii)snidaviaun
gumign o wHsE wantiimuiens: aphinugmistitinn:gigl




AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs
BUNT N HT wantiimuiens: aphinugmititinn:gigl

Lgmss-ssssﬁssejé’séé:ds

SIRMBESRS|FS FNSeE5es5 |

L siphmigheditndigiumhwegisanums
EUgRngame nHﬁJHuJHnﬁUﬁJLﬁﬁﬁﬁﬁﬂ
IFHIETA (HW 20-29 §1) A 163.068 cm MYW
4 AR 7.366 cmd 1R GIRANAIAMIS
168 TS

a. 68% iSan\ﬁUﬁiLﬁj
b. E&% iSnHﬁﬁUfﬁLﬁj
C. nHﬁJSﬂﬁHﬁJ’UINﬁnmﬁHﬁﬁUﬁJLﬁj



AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs
BUNT N HT wantiimuiens: aphinugmititinn:gigl

SIRNBICRE§FHSFHB645es5 |
2, Lnamsﬁﬁgsmawm sinlm s wsinéSm

n%]iﬁ[}ﬁ ifﬂHLﬁSﬁ nB“InfU"ifiLm 1 6EULn @ MR
umSLanT‘ILUIH inLUMIUﬂJ’Ime’US“I Si10

fehdothho ol huﬁnw%Onaﬁ )
tmmmmmmﬁaumw@oo Agpiog

mafooidlom.w EULﬁﬁhUﬁ“ILU‘DOO
n?:‘jiHLn

.0.0'.9’

5546 HBSRIRNIBING

ﬁnnmmm ﬁfnmmnsﬂmmsmnfutsﬂ
9‘11 "]Uiﬂﬂﬁiﬁﬁﬂﬂfmm m’nmmhmﬁms
hmmmhsmnmmweuja Sﬁln&ﬂnﬁjﬁ
nuash wmompisiiRdiipan i,
;ﬁﬁ kﬂﬁfﬂi[}US"lUifLﬂm AN IE U Nﬁkﬂiﬁ
iGﬁU]UJNH”WquUmSHNJH 0 S'ﬁnmnﬁj’ﬁ
11U Uji-ﬂu[uf”“l SiLUiNHV]ﬂﬂﬂS“ILUMIUﬂﬁn

ﬂﬂ”‘lfﬂﬂmmiﬁﬁi?ﬂﬁﬂ ﬁmmmhﬁmumnh
isAns: Shnguidimadmogwitdiifm
ﬁﬁ[‘HUUﬁLUnUﬁAﬂUJ'MIIUJ'ﬂJ'Nﬁ Sﬁmm”‘lfﬁJSkﬂS
RepinesSw

5

1}
i

40 Clo
e ¢
(@ 3398'.0

g A
=%

B%UB -3

30

U

n
r’t
)



AT SN ATWASSAIN M i

ANiSIAUNK) SRS AUTINUTA
guMignAFwH

L‘mhin EUH”WIHUIUI[LH 9191

<
-
=
53
S
Dz D?

- tlnnhioaghien m’nmmmﬁﬁpmgn‘h iR
Lnf@smiwtmmmsmwtsinhmn nimig i
Y fenantegeuit Shignanjaingmfiy 1A
gtanRion tRutsigpmingaihi wgins

ANNRIN Wwoijy SﬁnmnﬁjﬁMﬁUﬁm"]

() 5] (%) 7 b J
RS E5RIT LS TI5R5I52558
oinnkisaSI UM GinnicRIRUMSAN: 1S gk

wiwghardimassighis wghign sty myiuashitum
s th igmasSionr s M hni«gi >

islglonimm Abraham DeMoivre MSUIRRNSMIANNA
fopussigpmasiiisaiging  hhygudsBdsmintiiust
§armidsisinhadiend slankionSnis:AginsiAaannit
xq E}fﬂﬁﬁfﬁﬁié,ﬁﬁf( Gaussian distribution ) 1REjENAFW RN Karl
Friedrich Gauss ( 915U, 9G&& ) .



AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs

n
BUNT N HT wantliquias: apairuymELiGinn: gigl

55 RNSESHIRNSENNG

HSAYSERAIRIUAIHIBHORS] X IBuwsunje ¢ Shhih
o BIARNATNW

) . 1 2o
rekze; 0 = O_ﬂe 2

iRz =3.14159... S8 e=2.71828... 4

cinms ghaidhmiSs inmimsioRs) X Rums
Uiy 1 SRAMANAD o 1w
X ~N(p, o)
0 9 3 (5] 7 9
S5ERNLETFTRNIBING

gan-istinnkicannin

- IRWHhEIBHGRS MY mjt [UDUITRHHINS AANS)
muANIgImuTgimy

) T (R 0 ! 2 3
Standard Normal Distribution



AT SN ATWASSAIN M agitiangnanigpuig) sadauTmun

n
BUNT N HT wantiimuiens: aphinugmititinn:gigl

55 RNTESH[RNENNG

The Empirical Rule

0 5 54 = 79 7
BERNITETTIRITBIG
- 15§ gSwisaInnFsSWnS§{HH Normal 181

v N0 68%18FgSWwisItiQip-o 8 p+o
v iR 95%18 8 S SWwisITI: - 20 S8 p+ 20
v 0N 99.7%18 8 SWiSIBIg: 1- 30 88 p+ 30

- UIANRIGA Normal t1SMNTB1RGSST A Uiy p
SUAmAE o

(AY) (3]

10



o

agitiangnanigpuig) sadauTmun

AT SN ATWASSAIN M 9
BUNT N HT wantiimuiens: aphinugmititinn:gigl
o 9 54 () 79 b J
RS0 8RIT B TIER652538B
1
0.9 F ﬁzgzgzzz?:% E
n= 0,05=5.0
0.8 L=-2,¢ =0.5 -

0 5 3 & 79 7
BERIIDED TRV
. IENSRIGHsioEMeRNENRS
tgpmauasiinnhisaymddiamvomy yrsassah
RIRAMYLW Lm’UtﬁnIQJhnﬁﬁUjUtiﬂﬁﬂmﬁjmmﬁﬂiﬁiﬁ‘mta}

t“l%ﬂn%ﬂutS‘l =5 ShaE=g5 ws%:wmummmmmmmﬁgx
zmniﬁuim = Blw=gx 741G GiN: tagmhsmmnh

gudm

Xo

P(x, <X <x,)= o)d 2t
(<X <z, ) Ll v(x; p,0)dx = U@L dx

Eiaamithwivsiiunsignaad



AT SN ATWASSAIN M agitiangnanigpuig) sadauTmun
BUNT N HT wantiimuiens: aphinugmititinn:gigl
o 7 Y
R5EROITETTIR5525:3¢B
igiannymudais{iaminnitn X agaisinhoig:
%mtﬁL@Tt’éHﬁﬁtﬁLﬁﬁﬂJHSﬁﬁéﬁﬁ UIR UM ULIR IWuthAgmiga
AN itﬂUjﬁ Al ﬁ;ﬁﬁhﬂmimt? 3! UJﬁﬂIHSﬁHéiS:fLULUuﬂJ
i

Au 8ho 9 mpowingis: iwifuia

S Wik suRuigo Sihi)

}hmj@ iﬁmmmmmfﬂ innhioaSI AR Y HiISHoRgg i
W Z 8

.
(on
1ISnUIBUHIBHTRS] X AMNBWARIY x AMYW IS1SH

8o Z wmsalgz=2"£ ¢

o

0 9 ) & ” 9
5055 TTR535295:38B
Px<X<x e-’U”{Qx
( O‘\/ﬂ Ll y= o
1 . EY 2m
=—|"e 2 dz
= jzn(,.,,() 1)dz=P(z <Z <z,)
055555055

dtnnhioaymbdiaisais:
Suhifho swmshGinnkion
mnatinniioASI ﬁanfmSiLULmﬁjtu
iRuada tS‘ltpUtSjﬁ gmgmts Aty Gliad

ORISR UMISEEEO
C1

(=]

IRTFASN

14



AT SN ATWASSAIN M Ayl argRAAN dRui) snBavTmmugs

n
BUNT N HT wantiimuiens: aphinugmititinn:gigl

o o 3 @ 1M 9 )
S5ERIDEBTIRNNEBNVBAB SN
- 211NN 2 ITHIBHORS] X HIGHORSIANIEN N
N(45, 0.000625) GiUTURNNHIBITH
FR N
Z = (X — 45)/0.025

N(45, 0.000625) WAHIY 44.95 i§1 45.05 i@ Z
?

NUTYUARGIS M
W =%' (V)
X —a505 7204 _,
0.025
449545
X =4495 2= ———— =2

15

) 2 @0 1 y
BERNTSETTHRNIIVBKB SN
5595;55 [MASANNU BT URRIAAARN]F TS

°
s sywivmmapimusinnaisAnniHI Id N s BEjuiag s
75mM8L) U ShwmsAnN A Shemsi)n

}

A IRMAGS LT 68% AISIGIR U SMS ]2
2. IRMAGS BTN 95%m AISIGI U SMS R ns?

A IAR{MAGS U 99.78% rialSIG I oIS mSi)ns?

16



AT SN ATWASSAIN M agitiangnanigpuig) sadauTmun

S =

HUﬂfQﬁmLUHUI wantiimuiens: aphinugmititinn:gigl

SEHRNMIBNBBIRNSISHRIVENBHS ST

- IRWINHT MIAMNSYMUISHIBHERS AN
Bim Smtgv]%&’“lﬁ’“lmﬂﬂmi-ﬂﬁm[j‘“lm iU smi
UNAYWGSS §ig tnmSUianﬁnhtuUJ@iﬁn 1o
UTIﬁJ’LﬁniGﬂtLULG‘INnﬁ“ﬁfnﬂﬂmtmwmhiM“ﬂﬂﬁ
g wminBmangiinng ek Igo EXCEL

Z 0,00 0.01 0.02 0.03 0.0 0.05 0.06 i
0.0 0. 5000 0. 5040 0.5080 0.5120 0.5160 0.519% 0.5232 Q.
0.1 0.5395 0.5438 0.5473 0.5517 0.5557 0.5596 0.5636 0.
0.2 0.5733 0.5832 0.5871 0.5910 0.5943 0.5987 0.6026 Q.
0.3 0.0173 0.6217 0.5255 0.6293 0.6331 0.6368 0.5408 0.
0.4 0.5554 0.6531 0.6623 0.6664 0.a700 0.6735 0.6772 0.
0.5 0.5915 0.6950 0.6985 0.7013 0.7054 0.7058 0.7123 0.
0.6 0.7257 0.7291 0.7324 0.7357 0.7382 0.7422 0.7454 (2
0.7 0.7580 0.7a11 0.7542 0.7a73 0.7704 0.7734 0.77a4 0
0.8 0.7881 0.7910 0.,7939 0.7967 0.7995 0.,8023 0.8051 Q.
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M. PA8 < X <54) nodoinii X ~ NGo.8) 1§l Z ~ N, DItz =

NS’ =8=0=4/8
48 —-50 X —-50 54— ‘30

YR R S

=P(-0.71< Z <1.41)
=0.2611+0.4207
=0.6818

P(48 < X < 54) = P(
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A. PA8<X <54) 8. P(52<X<55) &. P(X-50/<)

52-50 X-50 55-50,
=P(0.71< Z <1.77)
=0.4616—0.2611
=0.2005

8. P(52< X <55)=(

B. P(X 50/ <8) = (/8 < X —50 <+[B)

X-50
8

=P(-1<Z<1)

=0.3413+0.3413

=0.6826 20
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778 - 800 -
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40
. 834-800 _ o
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v 778 800 834

P(778 < X <834)=P(-0.55<Z <0.85)
=P(Z <0.85)-P(Z <-0.55)
=0.8023-0.2912=0.5111

22



AT SN ATWASSAIN M agitiangnanigpuig) sadauTmun

BUNT N HT wantiimuiens: aphinugmititinn:gigl

SEERNMISNBBIRNCISHRIBINEHS SIS

1 e
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P(X <a)=0.8907.Z S
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2 9 o s 00 a3
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STANDARD NORMAL DISTRIBUTION

Z Score Table

z .00 01 .02 .03 .04 .05 .06 07 .08 .09
-1.4 | 08076 07927 07780 07636 07493 07353 07215 07078  .06944 06811
-1.3 | 09680 09510 09342 09176 .09012 08851 08691 08534 08379  .08226
<12 | 11507 11314 11123 (10935 .10749  .10565  .10383  .10204  .10027  .09853
-1 | 13567 .13350 13136 12924 12714 12507 .12302  .12100  .11900  .11702
-1.0 | (15866 15625  .15386 15151 14917 14686 14457 14231 14007 13786
-0.9 | .18406 18141 17879  .17619  .17361  .17106  .16853 16602  .16354  .16109
-0.8 | 21186 20897 20611 20327 20045  .19766  .19489  .19215  .18943  .18673
<07 | 24196 23885 23576 23270 22965 22663 22363 22065 21770 21476
-0.6 | 27425 27093 26763 26435 26109 25785 25463 25143 24825 24510
-0.5 | 30854 30503 30153 29806 29460 29116 28774 28434 28096 27760
-0.4 | 34458 34090 33724 33360 32997 32636  .32276 31918 31561 31207
-0.3 | 38209 37828 37448 37070 36693 36317 35942 35569 35197 34827
-0.2 | 42074 41683 41294 40905 40517 401290 39743 39358 38974 38591
-0.1 | 46017 45620 45224 44828 44433 44038 43644 43251 42858 42465
0.0 | .50000  .50399 50798 51197 51595 51994 52392 52790 53188  .53386
0.1 | .53983 54380 54776 55172 55567 55962  .56356 56749 57142 57535
0.2 | 57926 58317 38706 59095 59483 59871 60257 60642 61026 61409
03 | 61791 62172 62552 62930 63307 63683  .64058 64431 64803 65173
0.4 | 65542 65910 66276  .66640 67003 67364 67724 68082 68439  .68793
0.5 | 69146 69497 69847 70194 70540 70884 71226 71566 71904  .72240
0.6 | 72575 72907 73237 73565  .73891 74215  .74537 74857 75175  .75490
0.7 | 75804 76115 76424 76730 77035 77337 77637 77935 78230  .78524
0.8 | 78814 79103 79389 79673  .79955  .80234 80511 80785 81057  .81327
0.9 | 81594 81859 82121  .82381  .82639  .82894 83147 83398 83646  .83891
1.0 | 84134 84375 84614 84849 85083 85314 85543 85769  .85993  .86214
1.1 | 86433 86650 86864 87076 87286 87493 87698 87900 88100  .88298
1.2 | .88493 88686  .88877  .80065  .89251 89435 89617  .89796  .89973  .90147
1.3 | 90320 90490 90658  .90824  .90988 91149 91309 91466 91621 91774
1.4 | 91924 92073 92220 92364 92507 92647 92785 92922 93056  .93189

Negative Z Score Table Positive Z Score Table o
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60 _ P(IX —=Y| > 10)
50 =P(Y > X+ 10) + P(Y < X — 10)
40 =2P(Y > X+ 10)
Y307 _2// fx,v(x,y) dx dy
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MREIBIIOES] X, Y N2AN: IR IRUNATAY AR (uniform Big1s 0 15160 1F)

60 . P(IX —=Y| > 10)
50 =P(Y > X+ 10) + P(Y < X — 10)
40 =2P(Y > X + 10)
Y301 _2// f.v(x,y) dx dy
201 S y>x+10
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50 =P(Y > X+ 10) 4+ P(Y < X — 10)
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Introduction to statistics

UM MY

TUP-BA (RUPP)

Introduction
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Florence Nightingale

DIAGRAM or e CAUSES of MORTALITY

2. 3
APRIL 1855 ro MARCH 1856 INTHE ARMY IN THE EAST APRIL 1854 o MARCH 1855

n
The entire areas may be compared by following the blue, the red & the
black lines enclosing them

ifegRti?

<

TgnaN{AiSMIIY I MIVIN M MITma SUMIVAAN W BING
RUiglimegsw

[=3

. MIEYL Mius micoiyu Samimaissw

2
a o o A

— Descriptive statistics (fJ i1 fU1R1)

- minMmisRo§nshinisfgSw ishnuizumsinignyuis
§gSwhm: iupinsHIng

its/a])

— Inferential statistics (fdRUSIMNS)
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SHERNSILFMIESHP?

- Tghwiimngamidhynwenagh 88 aamn (djmh)
- ighwilimagumiiyganygismigaama

- tyghwisiwgsismnfaams famomsdugi

S56RBBNESTS vs MR

Istituto Nazionale
di Statistica

B0 Istat

POPULATIONS AND
SAMPLES

PERMANENT CENSUS OF POPULATION AND HOUSING

The permanent census of the population and housing begins in October 2018. For the first time ISTAT conducts not a CENSIMENTI PERMANENTI

ten-yearly but an annual survey of the main characteristics of the country's resident population and its social and 9,

economic conditions at national, regional and local levels. mﬁ !
The new permanent census of population and housing do not involve all Italian families, but a sample of them each
year: about 1,400,000 families resident in 2,800 Italian municipalities.

AND HOUSING

. - _ e —re oFth T ———
i : sl S Ty I SR L PUBLIC INSTITUTIONS
year; the remainder will be called to participate once every four years. In this way, all municipalities will be surveyed

at least once by 2021. NONPROFIT INSTITUTIONS
AGRICULTURE
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DS vs RIRIFG LR

@

~o =]

e (uinumssdamigjintwsn ajjh vy iig)

digmar Amdituamismiignisgnwepagh inaig
¥

C

o a L)

and Ahaoidunsinneisinfingwnigh nadgjainm
WINAMAY [HiNSIHGINg:

%
oI 02

Opportunity vs random sample

@ finmiiois) Amaamagwitupnsdins gunea;
MAMALMGW MEHINSIHAANS (HURIRHAMHE]
gnwenajiaingn) 9

# OaNEAGHUERING WUnIS T wisas] Hims
GIIR:
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Strategy 1: AUHATAMATBHSJIN 9

(Simple random sampling)

@ wamayw NSEUl n HINSIHIRGMATNWNAHYW NS
GU1 N I WM NGNS (pURAMASU n HESHMIQIM

Strategy 1: m:tﬁﬁ&mnﬁ‘%ﬁﬁSJmm

TABEI.LONE
£ N =90 12\3 8910

n =10 11(12| 1371471; 154;1,18_1g_gg
21 22 23 24 25|26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45|46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75|76 77 78 79 80
81 82 83 84 85/86 87 88 89 90
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Strategy 1: m:tﬁn}mnﬁ’%ﬁﬁSJmm

TABELLONE
£+ N =90 123 8 9 10
n =10 11 12 13 14 15 15 17 18119 20
21 22 23|24|25/26 27 28 29 30
31 32 33 34 35/36/37/38 39 40
41 42 43 44 45|46 |47|48|49 |50
49,65,25,74,18 51 52 53 54 55,56 57 58 59 60
90,47,24,71, 37 61 62 63 64 /65|66 67 68 69 70
71172 7374|7576 77 78 79 80
81 82 83 84 85|86 87 88 89/90

Strategy 2: MItFRIAMATH{UAS
(Systematic Sampling)

T ':LTABEI.LONE

1 2 3 8| 9 10

£ N =90 11 12 13 14 15 16 17 18 19 20
n =10 21 22 23 24 25|26 27 28 29 30

31 32 33 34 35|36 37 38 39 40

— 42 41 42 43 44 45|46 47 48 49 50

51/52/53 /54 /55|56 57 58|59 60
N/n—90/10—9 61 62 63 64 65|66 67 68 69 70
71 72 73 74 75|76 77 78 79 80
81 82 83 84 85 86 87 88 89 90

step =
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Systematic sampling

TR
* * * * * estimated
* t i t i * [ population size SHOP
i * ‘* ‘x * ** * > > ; > . ° @ ®
; i # e 'kﬁ“w‘n
1 * * } * * sample size
t )
Define the population Decide on the sample size Calculate sampling Select every kth member
interval k and collect data

Strategy 2: Systematic Sampling

e T T T ey e Tl
\ La Tombola dI / \ et /
/ PianstaBambini.ity [ At
L ———\ f—————————\

1/2(3]|4 8 9 10

2+ N =90 11(12[13]14[15]16 171819 20
n = 10 21 22 23(24|/25/26 27 28 29 30

31 32/33/34 35|36 37 38 39 40

T = 42 41142 |43 44 45|46 47 48 49 50

51/52 53 54 55 56 57 58 5960

step = N/n =90/10 =9 |61 62 63 64 65/66 67 68|69]70
71 72 73 74 75|76 77/78|79 80

81 82 83 84 8586|8788 89 90
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Strategy 3: MILEINMATEHS ENEATHH
(Stratified Random Sampling)

@ UnwenahpinsiuhicmAMRYRoH (strata) 1WIW
SAMATCHSINW [HINSRAIGMA stratum SYw9

Variation #1: ﬁ?WﬂﬁfﬂLﬁﬁgmHﬁL‘gﬁ (stratified systematic sample)
Variation #2: fIAMAMUABRUTNRIFISAGU (svatied

sampling proportional to size)

Stratified sampling
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Strategy 3: Stratified Random Sampling

*# N =90 G TABELLONEV (]
N temate = 60 1 2 [3 6 7 89 10
N, = 30 11(12[13 14 15 16 17 18 19]20

21 22 23 24 25|26]27 28 29 30

n—9 31 32 33 34 35/36 37 38 39 40
n 6 41 42 43 44 as5|4a6/[a7]as a9 ][50
female 51/52/53(54(55(/56 57/58/59 60
Nmale = 3 6162 63 64 65|66 67 68[69]70
71 72 73 74 75 76 77 78 79 80

Females : 46, 20, 26, 81 82 83 8485/86/87/88 89 90

50,47, 3
Males : 69, 85, 87

Strategy 4: MITHAIAMATNYGHNY
(Cluster sampling)

@ UnwspaipinsIAluioAsIMoINE Y IWRIAMATORS]
YWRINSIARAIGM (The population is divided into clusters,

and a simple random sample is drawn )

Variation: BAMAMUED (MIHINAHIFUHAT) vs
RomAMmuGY (MG AmasIakoHNY)
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Cluster sampling

O S
Iy B

Strategy 4: Cluster sampling
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Sampling in the wild

World Health
Organization

Growing up unequal: gender and
socioeconomic differences in young
people’s health and well-being

https://hbsc.org

Exercise #1

ol

? HARAMBMAGIRGUaTN AnkaAy
ifmeasafer ieimsniHAdRs§5 Ruiliguangns
18U s ganjagismisgeom s |

a) simple random sampling

b

%}

) systematic sampling
c) stratified sampling
)

d) none of the above
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Exercise #1 -- Solution

? A representative of a cheese factory is asking questions
on cheese consumption to every 5th customer entering
the supermarket

Which kind of sampling strategy are they using?

a) simple random sampling
b) systematic sampling

c) stratified sampling

d) none of the above

e sHamat (eI tTng (selecton bias)

e Survivor bias
e Volunteer bias

e Lost to follow up bias

.ooo



ananTgpiwadsaingm AyinnlaAny ﬁﬂﬂngLmUtLﬁanLUnUImULn
yimignnfwsil wantliquias: apairuymELiGinn: gigl

Selection bias in the wild

Patterns of item nonresponse behaviour to survey
questionnaires are systematic and associated with

geneticloci

Gianmarco Mignogna, Caitlin E. Carey, Robbee Wedow &, Nikolas Baya, Mattia Cordioli, Nicola Pirastu,
Rino Bellocco, Kathryn Fiuza Malerbi, Michel G. Nivard, Benjamin M. Neale, Raymond K. Walters &

Andrea Ganna &3

Nature Human Behaviour 7, 1371-1387 (2023) | Cite this article

Exercise #2 -- Solution

? gapwighinsiildemgigaguiins ddjaiilingemag!
Saivenam uUAMITEONGIANAGMINN COVID-199 HA
guRias (pimsied 3unn:o &juﬁnq{mnmnmfm 9 i1
ﬁ?ﬁyiuﬁgﬁtﬁms*ﬁfﬁm@hmqw?

a)

b) Yes, volunteer bias
c) Yes, survivor bias
d) Both b)andc)¥
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Learning objectives

Understand the differences between data types

e Be able to summarise each data type using measure of centrality
and dispersion

o Understand the difference between parameters and statistics
o Understand why visualise your data is important

{1168

b
110
coc

i)

| Variable }

|
v .

{ Categorical } { Numerical ]

| |
4 4 ' L

{ Nominal ] { Ordinal ] { Discrete ] {Cnntinunus}

|
. !’

[Dichntumnus] { Pnlytnmous]
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Exercise #3
? RGSSWUIASAMRIMS
UIMUARMNRIS: ?

<3 op

Visconti A., et al., Total serum N-glycans associate with
response to immune checkpoint inhibition therapy and
survival in patients with advanced melanoma, BMC Cancer,
2023 doi:10.1186/s12885-023-10511-3

Why do we care?

=
=
-}
5
=

e
=
=8
c

o

Table 1 Patient characteristics.

RINSAMNGS YWY +/- AR

All cohorts

N (pre-treatment) 88
N (follow-up) 66
Sex

Male 57 (64.8%)

Female 31 (35.2%)
Age (years) 605+15.0
BMI (kg/m?) 280454
BRAF mutant 40 (45.5%)
LDH (<ULN) 58 (65.9%)
Metastatic stage

Stage lil unresectable 2(23%)

Mia 14 (15.9%)

Mib 17 (19.3%)

Mic 32(364%)

Mid 23 (26.1%)
ECOG performance status

0 47 (53.4%)

1 31 (35.2%)

2 8(9.1%)

3 2(2.3%)
ICl therapy

Ipilimumab 1(1.1%)

Pembrolizumab 20 (22.7%)

Nivolumab 30(34.1%)

Ipilimumab + Nivolumab 37 (42.0%)
Table 1 Patient characteristics.

All cohorts

N (pre-treatment) 88
N (follow-up) 66
Sex

Male 57 (64.8%)

Female 31(35.2%)
Age (years) 605+150
BMI (kg/m?) 280454
BRAF mutant 40 {45.5%)
LDH (<ULN) 58 (65.9%)
Metastatic stage

Stage ill unresectable 2(2.3%)

Mla 14 (15.9%)

Mib 17 (19.3%)

Mic 32 (36.4%)

Mid 23(26.1%)
ECOG performance status

0 47 (53.4%)

1 31(35.2%)

2 8(9.1%)

3 2(23%)
ICl therapy

Ipilimumab 1(1.1%)

Pembrolizumab 20(22.7%)

Nivolumab 30(34.1%)

Ipilimumab + Nivolumab 37 (42.0%)
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(Measures of centrality and dispersion)

@ aiginuiusicmmamutsa
The most frequent item
* =1,
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Measure of centrality: median

@ The "middle" value

32 [4a |50 [ 53| 58| 62 | 68 | 70] 75| 76| 82| 89 | 94 | 95

1. Data should be sorted!

Measure of centrality: median

@ HigGAM (the "middle” value)

* n=72={13,3,6,7,8,9}
median(a:) = m(n+1)/2 = x(7+1)/2 = T4 — 6

# n=8z=1{1,234568,9}

T(n/2)tT((n/2)+1) _ T(8/2)TT((8/2)+1)
2

median(z) = 5 =
_ Tat®s 445
= 55 =52 =45

1. Data should be sorted!
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Measure of centrality: median

@ Robusttooutliers

2 n="72=1{1,33,6,7,8,9}
median(z) = Z(n41)/2 = T(741)/2 = T4 = 6
£ n=712=1{13,3,6,7,8,109}

median(m) = m(n+1)/2 == :13(7+1)/2 = T4 = 6

1. Data should be sorted!

Quartiles

Lower half of data Upper hall of data

1. Data should be sorted!
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e
/ p
'WHO Child Growth Standards

Measure of centrality: mean

@ Arithmetic mean

_ 1
B = —
n

£ 1 =1{4,36,45,50,75}

L(on p;) = 436045050475 _ 4o

Sl
I

i=1Li 5
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Measure of centrality: mean

@ Not really robust to outliers

* 2= {4,36,45,50,175}

=1 (00, 5;) = L0417 _ 6

Mode vs median vs mean

mean
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The shape of a distribution

Mean
Median Median
Mode
'
Positive Symmetrical MNegative
Skew Distribution Skew

Measures of dispersion

T FlW of |
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Measures of dispersion

-150 -100 50 0 50 100 150

Measure of dispersion: range

@ range(z) = max(z) — min(zx)

# 1z =1{6,7,15,36,39,40,41,42, 43,47,49}

range(z) = max(z) — min(xz) = 49 — 6 = 43
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Measure of dispersion: range

Number of Messages Exchanged in 1 Month

» 4942 3331 2830 5424 3506 5483 3004
w)/ 4411 3942 4199 9754 4091 3423 5253

a

oY

| ] ] ]
AZ 000 3000 4000 5000 6000 7000 8000 9000

Measure of dispersion: range

Number of Messages Exchanged in 1 Month

”» 4942 3331 2830 5424 3506 5483 3004

L s 4411 3942 4199 9754 4091 3423 5253

Ly

|
10 OOOA

| | | |
AZ 000 3000 4000 5000 6000 7000 8000 9000

? range(z) = max(x) — min(z) = 9,754 —

|
10 OOOA

2,830 = 6,924

UYMIHLIGIAN: gig
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Measure of dispersion: interquartile range

@ IQR(z) = Q3(z) — Q1(x)

32|44 |50|53)|58[62]|68[70]75|76]|82)]89]04]0s

o

Measure of dispersion: interquartile range

Number of Messages Exchanged in 1 Month

[ 4942 3331 2830 5424 3506 5483 3004 -
L/ 4411 3942 4199 9754 4091 3423 5253 \
f,/ 7|

| | | | ol
AZ 000 3000 4000 5000 6000 7000 8000 9000 10 OOOA

max(z) — min(z) = 9,754 — 2,830 = 6,924
Q3(z) — Ql(z) = 5,253 — 3,423 = 1,830

#  range(z)
2 IQR(z)
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Measure of dispersion: variance

Low Variance High Variance

Measure of dispersion: variance

@ s’= ﬁ Soii(zi —7)*

where == (3", z)

_ — _ 14243 _
2 2={1,2,3} z=52=2
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Measure of dispersion: variance

@ =30 (zi—1)

why —— ? — (i —%)=0

2 r={1,2,3} z=125 =2

(@i -2 =(1-2)+(2-2)+B-2)=
=—-14+0+1=0

Measure of dispersion: standard deviation

@ 5=V =/ L (@i—7)

where z =21 (37, 2;)
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Centrality, dispersion, and data types

Data type Centrality Measure Dispersion Measure

Nominal Mode -
Ordinal Mode, Median Range, IQR
Numeric | Mode, Median, Mean | Range, IQR, standard deviation

Parameters vs statistics

e Parameters: calculated on the population (u, o)

o Statistics: calculated on the sample (Z, s)

ngRibnngaannigpuii)snidaviaun
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Exercise #4

? Which curve has the larger
mean?

a) blue
b) green
c) red

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30

Exercise #4 -- Solution

? Which curve has the larger
mean?

a) blue
b) green
c) red

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30




anANTgN WS AN ngRibnngaannigpuii)snidaviaun
gumign e wHsE wantiimuiens: aphinugmititinn:gigl

Exercise #5

? Which curve has the larger
standard deviation?

a) blue
b) green
c) red

fr— T T T T T T T T T -
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Exercise #5 -- Solution

? Which curve has the larger
standard deviation?

a) blue
b) green
c) red
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Exercise #6

? Researchers have collected age, sex, and cholesterol
How should they summarise their data?

a) Age: mean (SD), sex: N (%), cholesterol: mean (SD)

b) Age: median (IQR), sex: N (%), cholesterol: median (IQR)
c) Age: mean (SD), sex: mean (SD), cholesterol: mean (SD)
d) Either a) or b)

e) Either a) or ¢)

Exercise #6 -- Solution

? Researchers have collected age, sex, and cholesterol
How should they summarise their data?

a) Age: mean (SD), sex: N (%), cholesterol: mean (SD)

b) Age: median (IQR), sex: N (%), cholesterol: median (IQR)
c) Age: mean (SD), sex: mean (SD), cholesterol: mean (SD)
d) Either a) or b)

e) Either a) or ¢)
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Data visualisation: boxplots
Outliers Outlier
o o] o
Ql-1.5*IQR Q3 + 1.5*IQR

Q1 Q3

Boxplots in the wild
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Visconti A., et al., Total serum N-glycans associate with Non-resbonders Respénders

response to immune checkpoint inhibition therapy and
survival in patients with advanced melanoma, BMC Cancer,
2023 doi:10.1186/s12885-023-10511-3
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Data visualisation: DataSaurus Dozen
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Summary

e Data come in different types

o Data are described with measures of centrality and dispersion

o Visualising your data is always a good idea
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